SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
COMPUTER EDUCATION PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy §oF “L LW

1. Use separate answer sheet for writing answers and give your personal information on it as well.

S U E o St g S e qulzc;ué‘ L LA s
2. Read carefully and attempt all questions.
gL S sl Uy e ra
3. A question can consist of one or more parts.
e (F o L s b e LI L i L

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

e et SUE L S G g S 6 £ I L £ in e

I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1
lﬁ} Jlr
a ) Define System Unit and write down the name of its different shapes. (3 Marks)
(/3)-ui”’6rb£J@1J@u&unq/_gfgf&g(”/ (a
b ) What are Peripheral devices? Write the name of any two Peripheral devices. (3 Marks)
G e L Apdisans 8 cudn Pl de b

¢ ) Write the correct name of the devices as shown in the figure below. (4 Marks)

- e £ A §O 19 2 (€

Question No: 2

2/J!r

a ) Define Application Software and write the names of any two application software. (3 Marks)

D) 6 L i S P i F G



b ) Write the steps to open Disk Cleanup utility program in MS-Windows. (3 Marks)
(/7} 3)-J.‘.d€ S, Liﬁ/}’/ﬂj;/“ ub’f:%g Disk Cleanup U~ MS-Windows (b
¢ ) Write one difference between Utility programs and Device drivers with one example of each. (4 Marks)

(/7}4).«):) JCAV{!J.{MM U:/'/U,l{ J},{!uﬁb}fuﬁ"f/lgﬁm;if;@ﬁg (c

Question No: 3
3 / Jlr

a ) Define First Line Indent, Hanging Indent, and Indent Both Sides. ( 3 Marks)
( / 3)-U S — /‘7 d/ Indent Both Sides s/ Hanging Indent, First Line Indent (a

b ) What is Tab Stop? List any two names of Tab Stop alignment styles in MS-Word. (3 Marks)
(/7‘; 3) _J.J(L' e o5y b — 8/Lu v JE1 U2 MS-Word fe .L:"/h;t“’ - (b

¢ ) Write the steps to apply a border to a paragraph in MS-Word. (6 Marks)

(#6) .U:JJ’V L8, 3 L Ut MS-Word (©

Question No: 4
4/:} J!r

a ) Define the Background of the MS-Powerpoint slide. (2 Marks)

(#2) gl d/,”cflj.g L 41> MS-Powerpoint (@
b ) Briefly explain any two background effects of the slide in MS-Powerpoint. (4 Marks)
(/7} 4) -u:/c»l.fu /ﬁ Ju’%ﬁ/‘i ksuf.,g = &/L KW X MS-Powerpoint (b

¢ ) Write the method to change the Themes in MS Powerpoint. (4 Marks)

(/:} 4) -uf.dg PSS S Themes U2 MS-Powerpoint (c

Question No: 5
5/:2 J!y

a ) Who are e-mail Service Providers? Give the name of two famous e-mail service providers. (3 Marks)
(/ 3) -uﬁaﬁ,’t Z /’Ji’l”/,: Jr s Jfﬂjl I e (}/(U.? L w u/];fu’l”/? Jr s J:‘ S (a

b ) Write the purpose of the following parts of the E-Mail message: (3 Marks)
(To, Cc, Bcc)

(/3):@"6»43‘ K Us® S5 Lr%ﬁ g (b
(To, Ce, Bee)

¢ ) Write the steps to check the new message in an e-mail account. (4 Marks)

(/4)-uf‘g_»,uﬁi“iLé,/uggrgggut&mﬁw (c



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
COMPUTER EDUCATION PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S A W

1) Use mask & keep at least 3 ft. distance from each other.

_uﬁyw:ﬁsﬂu (wa/,lu%JL-i

2) Read carefully and attempt all questions.

_L):/JV&UU”rl}Ai uﬁ‘”f::_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
= " Z - 7 o .
e VWS BT 2 S S 12 E L e $E 0 2y

Example: Which error occurs when the instructions written in a program do not follow the rules of the programming language?

_ugéfuff4uﬂflLugjvétﬁ/?ggn/,fﬁ¢(1ﬁ4¢%3ﬁ&;utJ’J'u“u/:&ff

@) SyntaxError , f e (b) Logical Error /| J%U
(c) Run-Time Error /| r/’[j ) (d) Execution Error /| u’}:/f!

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L liznl e Lty S

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
ct A15E et L s e GEW F GO s U i

Question No.1: Name the given component, that is connected to the system board.

- g b = by fb’/ﬁ :u:/lﬁ. L K’ component L >l / Jir

(a) ROM ru

(b) RAM rj y

(c) Processor /:’ 1y

(d) USB d-i-

Question No.2: Barcode has a “series of numbers” that is called:

o %f& "1 Ju;/"jﬁg :2/ Jis
(@) Universal Promo Code j/,»,/“ J’,,j,x (b) Universal Product Code ;[&(;,/ﬁ J/Uf/

(c) Universal Part Code )}’}J/&JE J/”:‘:/. (d) Universal Process Code j/u’..w,/“ J/U.f?f



Question No.3: A device driver is an example of:

e Je S 15 ujugs 3 A v

(a) Application Software /:’, 2 ‘.“ﬂé‘({’] (b) Educational Software ﬁ/} P J;{i“‘
(c) Entertainment Software /:’, 2l _b,;};fb/’il (d) System Software /:/} Al (b’/
Question No.4: The Software which controls and manages the overall functionality of a computer is called:
. 2 kS b Yo s o . ),
:ugéfwbar/f”/;td;}(/u:’i’zrvJ/”,;{z/:’;:»vu 24/J!/

(a) Application Software /:/, LA (b) System Software /:/} P (1’._./

.. 7 N . . S
(c) Utility Programs /;//,/“ sy (d) Device Drivers J¥ 13 u)ﬂgj
Question No.5: A software that is used to view and manage visual data is known as:

e l:‘Uv;(c‘a e Y JE “i L L/(V 1 é“; S visual data 2 £s 23l :5/7} Jir
(a) System viewer 4, (b"/ (b) File viewer ¥ J/U (c) Disk viewer ¥ _'Cj (d) Image viewer ¥ Z:f;

Question No.6: MS Powerpoint is a type of:

- (J p( MS Powerpoint 6 A Jl/
(a) System Software /:’, 2 5 (b) Application Software /:’, Sl S
b /

(c) Utility Software /:’, 2ol (8% p (d) Device Driver Software /:’, 2 /}f;/j Lf"?}.j
Question No.7: Choose the key used to set the position of the text quickly at specific location.

-u:/h,l‘?l Kkey dls s Jb3i 4}_ Lo S ew b $09 oy d/.a,g/,, = S 7 Ay
(a) Spacebar (b) Ctrl (c) Tab (d) Enter
Question No.8: Identify the view of the MS Word document as shown in the below image.

-9?&%&4%{6} éft&@/&@d/gjﬁiwﬁfMSWord :S/Jl/

(a) Web Layout View ?J.,&jf P —? B |
(b) Print Preview I d/“ d//“ | ﬁgﬂmmm
(c) Draft View Iz 25 |
(d) Outline View g1 U 25T
|
|
Question No.9: Deleting, inserting and re-writing text in a document is known as:
e b S S S PSP e e i 0 A Ui
(a) Alignment &,:2‘/”1 (b) Formatting u@j/g (c) Editing v@’jy (d) Designing Véﬂy’.j
Question No.10: The shortcut key used to make a text /TALIC is:
e key S et L L ETALICS w110 & Jir
(a) Shift +1 (b) Ctrl +1 (c) Tab +1 (d) Alt +1
Question No.11: In an MS Word document, how many times Enter key is pressed to discontinue a list?
?‘L &la &L} &/ Q}/Enterkey“i Z d_/'?:/d//' .{l (U M}’/lfMS Word :11;‘; J!y’
(a) One ug (b) Two ) (c) Three uf (d) Four /(5
Question No.12: The alignment used mostly to make the cover page of document, is:
!‘Liﬂ’/ﬂ!d!) L Je12 o)kngl}: cover page g eondls 112 2 iy
(a) Center (b) Left (c) Right (d) Justified
Question No.13: Choose the shortcut key used to print the document in MS Word.

S b key 2 ek L LS ey S wo i A MS Word 213 & Ui

(a) Ctrl+C (b) Ctrl+F (c) Ctrl+P (d) Ctrl+V



Question No.14 : Choose the total number of pages that will be printed as shown in the print dialog box.

Lunay gl Foad F e Lo s Sy 14 A Jis

Prir ber
Fifarmye: o MeuiettFackard HP Lacer Jet M4
Stahe:  Prnbng: 1 documents watng
(a) 4 Type: HP Laser Jot ME04 PCL &
Wihere: usa001
(b) 5 Com=ent:
(c)6 Copies
(d)7 fmber of gopesr 1 $
0 P o
Question No.15: Identify the Tab that helps a user to Zoom in/Zoom out the document.
_‘Lfﬁ/&ﬁ(ﬂkw r;]]&/’f.{lﬁgé,u qu:/;«?lﬂp(uju’l :ISﬁ’/d!r’
(a) Home (b) Review (c) View (d) Page Layout
Question No.16: In MS Word 2007, the shortcut key of "Find" command is:
i key < @l § £UFind" U MS Word 2007 :16 # Jir
(a) CTRL+B (b) CTRL+C (c) CTRL+F (d) CTRL+Z
Question No.17: The key used to delete the character from the left of the cursor is:
:‘Lkeyd’) Lﬂdlﬁ"’! “i Lg_/f]/}ﬁ//;q/ o’ L//:U/ J!y’
(a) End (b) Backspace (c) Esc (d) Delete
Question No.18: Identify the labelled area "A" from the following image.
Z Py .
_u:/&lﬁu("A"g/JiéJfgé/"ﬂj J;;’ Lo 18 A Uiy
(a) Text highlight color 4] ‘}ll Y
(b) Font shading color )(jﬁ LS ) Calibri (Body) ~|11 ~ A" A Aa~r #&
. B T U ~abex x° /[&-3F, -
(c) Font Color /g_»j,’ i
Font AN =
(d) Font background color /gj,ﬂ/vc F
Question No.19: By default, the gap of Tab Stop from left margin is:
:%bﬂﬁ/oﬁié%gfbyfé&/twg :19/7/J’}”
(a) 1/4 inch (b) 1/3 inch (c) 1/2inch (d) Linch
Question No.20: A user can easily divide a document into more than one part by using:
-4"_&/(7& tnd S S uﬁuﬁ»y:«_.{l/wﬁﬁc_dvug,{t 20 & Jiv
(a) soft page break L& i (b) hard page break L& 7k
(c) section break J/. u”? (d) manual page break J/. @‘ J;{
Question No.21: Select the correct name of label B in the image shown below.
_Q/JKCM/)KB&J/,,W(,S'K&U/)@ 121/dl/
(a) Header //tf'z e %
. A
(b) Section break J/. J’..C
(c) Page break L&
(d) Footer /;,’, et 1 |
Question No.22: In MS Word 2007, center alignment of text vertically is mostly used to create:
et e Lk LY 2B B b $osF (U MS Word 2007 22 & Jis
(a) Table of Content Page & oo 7 J'ff (b) Cover Page & e
(c) Reference Page & L//Q{J (d) Introduction Page & L’f&'/j’/m
Question No.23: The number of media elements used to create attractive multimedia presentations are:

= Iy (,(/lf {4 Llsd_w JLJ"! “i it ':.:.'/“/,: L4 (fL U:;//.. 23 / J!y’

(a) 2 (b) 4 (c)5 (d)7



Question No.24 :

(a) Text

Question No.25:

(a) Home

Question No.26:

(a) Variants

Question No.27:

(@)1

Question No.28:

(a) Home page

Question No.29:

(a) MMS

Question No.30:

(a) Inbox

Question No.31:

(a) service provider

(b) address
(c) domain
(d) username

Question No.32:

(a) Sent

“Quaid-e-Azam was born in 25-Dec-1876” is kind of data:
Ce 5 K(:’ gf:/ “Quaid-e-Azam was born in 25-Dec-1876" :24/:‘; Jis
_z;,,g (b) Image éi Jf J/f”
Identify the tab in which a user can find slide transition.
e (B S s e Sl U g s § ot U 25 A Jir

(c) Animations

(c) Graphic (d) Numeric

(b) Review (d) Design

In MS Powerpoint, users can search for beautiful templates of their own choice by using.

-ujé/gjl}i‘ % T AP (;’..!L//Jbv"’”l Jside JMS Powerpoint :26/7} Jis

5 o - L/T y
u—*""../, (b) Theme (f/ (c) Office Website * (d) Slide layout * .
A AP

How many parts are there in an e-mail address?
i L R S-§ L 27 £ i
(b) 2 (c)3 (d) 4

The first web page of Hotmail is called:

e L"U«/@' —z+ by 6 Hotmail 228/1} Jir
& J A & .y

(b) Account page (c) Admin page (d) User page

& ]

Grr
Email is delivered by:

e o G s LS I8 09 A Ui

(b) SMS (c) Fax (d) Computer

In Hotmail, name the folder from where we can restore the removed e-mails.

_wég/(/}t“d///&”dlfd/f)ﬂauwu:/@ (l? 6,09 J1 U~ Hotmail :30/7’; Jl/
(b) Deleted (c) Drafts (d) Sent

Identify the "A part" of e-mail address as shown below.
e VWS Ut Sl g S s § M2 A" Ll S 314 i
SK sy U/
skl
a3 |
iy A

User can include files and photos in an e-mail by clicking on:

e (C YL S, S-S ol UF 6y 32 A i

(c) Attach (d) Draft

Naseer786/@ernail.com

(b) Inbox






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
ENGLISH PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1. Read carefully and attempt all questions.

2. A question can consist of one or more parts.

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

| Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes |

Question No.1: Write a paragraph of ten sentences on "Traffic Signals". Use correct grammar, punctuation and spelling. Marks (10)

' STOP

%

Question No.2: Write a letter to your brother and advise him to improve his English writing. Use correct grammar,
punctuation and spelling. Marks (10)

Question No.3: Develop a mind map on "Importance of Trees". Also write five sentences about it. Use correct grammar, punctuation and
spelling. Marks (10)

Importance of Trees

Question No.4: Write a paragraph of ten sentences on reasons why fast food has become popular and also has some serious effect on
health and society. Write at least five causes and five effects of the popularity of fast foods. Use correct grammar, punctuation and spelling.
Marks (10)




Question No.5: Read the following paragraph carefully and answer the questions. Marks (12)

Electricity is an important blessing of science. It is a part of modern life. One cannot think of a world without it. Electricity
has many uses in our daily life. It is used for lighting rooms. It is used for working fans. These things provide comfort to
people. In factories, electricity is used. Electricity is used in schools and hospitals. It has changed transport and
communication. Electricity also provides means of pleasure. The use of electricity is increasing day by day. Electricity can
be produced by coal, gas and water. There is a shortage of electricity in our country. As responsible citizens, it is our duty
to save electricity. Extra fans and lights should be switched off. We should turn off lights and fans before going outside. We should use energy
savers instead of bulbs. The energy savers consume 80% less energy as compared to bulbs. So using energy savers is to our benefit.

(a) Describe any two benefits of electricity mentioned in the paragraph. Marks (02)
(b) Describe two ways of producing electricity. Marks (02)

(c) How can we save electricity? Marks (02)

(d) Bulbs or energy savers, which are better and why? Marks (02)

(e) What is the central idea of the paragraph? Marks (02)

(f) Suggest a suitable title for the paragraph. Marks (02)



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
ENGLISH PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1) Use mask & keep at least 3 ft. distance from each other.
2) Read carefully and attempt all questions.
3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Heis____ to school.
a) goes b) went
(©) going d) go

4) If more than one options are encircled in a question, no mark will be given.

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

Question No.1: Look at the thesaurus. Which word has similar meaning to the word "Cut"?

(a) Repair ROT—— 1: WO I . ORI,
) Combine Cut r. carve, chop, clip, crack, slice, split, trim
Crack . : .

(€) Crac ANTONYMS: repair, combine, join
(d) Join
Question No.2: What will the mother say to stop her children from going outside in stormy weather?

(a) Let me do my work, don’t disturb me.

(b) Mind your own business and don’t waste your time.
(c) You should pay attention to your studies.
(d)

d) Please, wait for the weather to be fine.

Question No.3: Which of the following words contains a consonant cluster at the final position?
(a) Book (b) Chair

(c) Desk (d) Telephone

Question No.4: "Youshould____ the hockey and start doing your homework now. "

(a) putup (b) aim at

(c) turn on (d) knock off

Question No.5: Choose the plural of “Haircut”.

(a) Haircut (b) Hairscut

(c) Haircuts (d) Hairscuts

Question No.6: "The basic mode of mass communicationis ________ which transmits news."
(a) media (b) medias

(c) mediums (d) medium's



Question No.7: What is the correct response to the given expression?
"Could I ask you the time, please?”"
| am doing well.
| am not available.
c) Itis never too late.
) It’s quarter past eleven.

Question No.8: "Soon it began to get dark. Luckily we had tent with us."

(a) much (b) an

(c)a (d) any

Question No.9: Identify the sentence in which the linking verb is used.

(a) She felt the thick tree leaves.

(b) The gardener felt tired.

(c) The girl felt the vibration.

(d) He felt the grass under his feet.

Question No.10: Choose the correct Passive Voice of the given sentence.
“Why does he always blame others?”

a
b

) Why others always blamed by him?
) Why do others always blamed by him?
C

d

(
(
(c) Why are others always blamed by him?

(d) Why is others always blamed by him?

Question No.11: Choose the sentence which has an indirect object.
(a) Would you like to give them a mask?

(b) Amina painted a bird for art project.
(c) The boys built a castle with Lego.
(d)

d) I have a bag, two pens, and seven books.

Question No.12: Choose appropriate punctuation to fill in the blank.
"Akram is afraid of two things____ spiders and storms."

(a) Question mark (?) (b) Dash (—)

(c) Full stop (.) (d) Exclamation Mark (!)

Question No.13: "If the driver had applied the brakes,he _____ have avoided the accident."

(a) will (b) shall

(c) should (d) would

Question No.14 : Choose the correct option to make the sentence of " Present Perfect Tense."
"Myparents ____ me."

(a) is never hurt (b) are never hurt

(c) has been never hurt (d) have never hurt

Question No.15: "Abladeis____ aknife."

(a) sharper than (b) the sharpest

(c) sharper to (d) sharpest than

Question No.16: Choose the word which has three syllables.

(a) Population (b) Fantastic

(c) Dictionary (d) Calculator

Question No.17: Your friend visited a nearby sea. He cleans seashore by putting the trash in the bin. What would you say to appreciate

him?

(a) Go to sleep.
(b) Great! You did well.
(c
(

What a great question!

)
)

d) You should come in here.
Question No.18: Identify the list of long vowel sounds.
(a) Deep, Heed, Eat, Feet (b) Cat, Mat, Hat, Sack
(c) Hop, Sock, Mop, Mock (d) Mud, Fuss, Blunder, Under
Question No.19: Choose the correct tongue twister to complete the sentence.
"How much ____could a woodchuck chuck if a woodchuck could chuck wood? "
(a) hood (b) would

(c) wood (d) could



Question No.20:

(a) itself

(c) herself

Question No.21:

(a) Grandmother
(c) My
Question No.22:

(a) inspite of
(b) due to

(c) as a result of
(d) effect of

Question No.23:

Fillin the blank by using suitable reflexive pronoun from the given options.
"I have enjoyed M

(b) himself
(d) myself
Identify the adverb from the given options.
“My grandmother walks extremely slow."
(b) Walks

(d) Extremely

"He attended the party his busy schedule."

Choose the correct punctuation to rectify the sentence.
"Pakistan is flourishing in every sector day by day, said the Prime Minister."

(a) Exclamation mark (!) (b) Semicolon ()

(c) Quotation mark (“ ") (d) Question mark (?)

Question No.24:
(a) Understand
(c) Forget

Question No.25:

(a) clever

(c) coward
Question No.26:
(a) believe off

(c) black out
Question No.27:
(a) a

(c) any

What is meaning of “Authority”?
(b) Power
(d) Increase

Use the correct simile in the blank.
"Heis as asalion.”

(b) brave
(d) intelligent
"If you yourself, there is nothing in which you can not succeed.”
(b) trust off

(d) believe in

"Sheis______ girl who worked a lot for human welfare."
(b) an
(d) the



Paragraph Instruction

Read the following poem carefully and answer the questions given below.
How beautiful is the rain!

After the dust and heat,

In the broad fiery street,

How clatters along the roofs,

Like the tramp of hoofs!

How it gushes and struggles out,

From the throat of the overflowing spout!

Across the window pane

It pours and pours;

And swift and wide

With a muddy tide.

Like a river down the gutter roars
The rain, we welcome the rain.

Question No. 28 : What does "Fiery Street" mean?
(a) There was fire in the street.

(b) There was intense heat in the street.

(c) There was a crowd in the street.
(d)

d) There was a fight in the street.

Question No.29 : What is there in the street?
(a) Noise and crowd

(b) Mud and dirt

(c) Dust and fire

(d) Dust and heat

Question No.30 : What roars in the poem?

(a) Lions (b) Rivers
(c) Rain (d) Gutters

Question No.31: Suggest a suitable title for the poem.

(a) Broad firey street (b) Dust and heat

(c) The window panesr (d) The beautiful rain

Question No.32 : Identify rhyming words of “Spout” .
(a) Out, Shout, Doubt

(b) Flute, Cute, Mouth

(c) Mute, Rout, Bought

(

)
d) Doubt, Trout, But






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
ISLAMIAT PART - B (Subjective Type)

[Part A: 30 Marks Part B: 30 Marks Part C: 40 Marks Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students:

1.Use separate answer sheet for writing answers and give your personal information on it as well-

g el Un b & (ff/%;! é:u’! ] Q/JLJ"I Kégdﬂﬁaoﬁf“i Z &J_agu?

2.Read carefully and attempt all questions-

_gj”/’/gf o Uiy rV" 1 u.‘.‘”Zc;/f

3. A question can consist of one or more parts-

_%Cﬂﬂd}&//.:U!‘?O)E/‘LVQEng‘/ug

4, Use black/blue ink for writing answers. Use of lead pencil is not allowed

e U bl JJLMLJ“;'&:-J“/JW! gl E/dvd &0z

I Total Marks: 30 I Part-B (Constructed Response Questions) I Total Time: 45 Minutes I

Question No: 1

1/:2 Jlr
a ) Write the Nasab of Zakat. (3)
DS 1 f IEs) (@
b ) Write three economic effects of Zakat . (3)
GV yS 1 f el S L 555 (b
¢ ) Write any four social benefits of Zakat. (4)

(4) oS 2f s P o = BFL 385 (€

Question No: 2

2/:2 Jlr
a ) Describe the background of Ghazwa Hunain. (3)
()-SR K e (2
b ) Write three sayings of Hazrat Khawaja Farid-ud-Din Ganj Shukr3).~dc Ul Ala>))
(03)-gS 2 fF g = GF L e =2, pe 5@»' sf ol# e 2 (b
¢ ) What do we learn from the efforts for education of Hazrat Khawaja Farid-ud-Din Ganj Shukr (4) ?(~tle AUl ~ne>))
(4)?4‘-CLJJJQ(W4;U;’}/JH‘ Jr d/,}ijdi :f//éé?c):ﬂ! ,g/ NP = P (c

Question No: 3

3/:}J!r



a ) Describe the concept of equality according to Islamic teachings. (2 marks)
Ay ok & milr G £ =l G (@
b ) Explain human equality in the light of the Last Sermon: (4 marks)
(/ 4) :u:/ffl; o~ fu J{,M 22 B el Ju,u [}LJ! (b

¢ ) What kind of society did the Sahaba Kiram o ic ,jJI o) developed by following the golden principles of equality? Explain. (4
marks)

@) g S ol S 2 L N G e s i S £ il (€



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
ISLAMIAT PART - A (Objective Type)

[Part A: 30 Marks Part B: 30 Marks Part C: 40 Marks Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_uﬁyw:ﬁsfﬂ (wa/,lu%JL-!

2) Read carefully and attempt all questions.

_Q/J’amy(l}m uﬁwz:_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

_‘L.lff.t.u/lutdc”fdiéfld?u:/év//b/??!ﬁgLd‘yd@mu’/’?}/ﬁ_r
e Pt & s, o Je

Example: How many Salah are obligatory for Muslims in a day?

Four A.f (b) Three uf' (2)
Six %7 (d) Five é& 0)

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 30 I Part-A (Multiple Choice Questions) I Total Time: 45 Minutes

Instructions: Twenty (20) Multiple Choice Questions (MCQs) are given in this part. Each question carries 1.5 marks.

cu A1S L o Lo e JEW E20 Ut o Ul

Question No.1: In which surah the word uuill oil5 is mentioned for Rasoolullahalwg ~lolg AT eg adle AUl (WLo?

cr T i o C o ("l;%.é (*“; s JT s e J”.;T 1 A i
(a) Al-Bagara » /?J; (b) Al-Rehman 0 Ji (c) Al-Maeeda o iU (d) Al -Ahzaab 7 Ul
Question No.2: To whom worship belongs?

?%QJ/JMK:AV :2/Jl/

(a) World < > (b) Creatures = J,Jf (c) Creater - JJG (d) Day of

d
judgement = =7l

Question No.3: Not praying to Allaah causes:
’ *
9@%3/&&)@&@’&!: 3 2 iy
|
(a) Wealth (b) Allah d/d@ i}

: Ku{uﬁ JL almighty's .
reduction displeasure KUJUL'

Question No.4: For paying Zakat, a certain amount of gold, silver and marchandise is called:
e bl U 8 P LS e e sl Galebr L LS 1158 4 A i

(a) nisaab VW (b) zakat 3,'1/) (c) charity e e (d) scholarship Aé,b‘}

(c) humility {U’]u (d) selfilessness {d/]; Y4



Question No.5: On the occasion of the conquest of Makkah, went to Madinah for the renewel of peace agreement:
P . g ot .
L ok L4 Er S LT 5 4 Uy

(a) Abu Sufyaan i) (b) Hakeem bn 7 f'{; (c) Badeel Bin 5o ot J,,,y (d) Amar Bin Rafe 8’/ i

Hizam Warqa

Question No.6: The persistence of Rasoolullah plwg ~ylxolg Nl (eg atle AUl Lo in spite of the stampede in Ghazwa Hunain,
teaches us a lesson of:

:‘LCLJf“‘_j:"éfw‘tijKﬁ/;,u‘uﬂ&ﬁbwJ"é/d'u?,gLiﬁ’uﬁu?uy' :6/1}‘_)!/

(a) moderation K S 2l (b) perseverance K (i
=

(c) simplicity K‘f;p (d) tolerance Kd/b!)/

Question No.7: The distance from Madina to Tabuk is:

3‘L~L‘G KJX{;,’;A 27/ Jir
/b{:gégr’:«(/

. h i
(a) six hundred and five kilometers /”-{,‘}Két v 5 (b) seven hundred and five

- kilometers
(c) eight hundred and five , > e . . R > .
kilometers /-.’.',Ké& v 5 (d) nine hundred and five kilometers /{,‘,KéE vy
Question No.8: What was the focus of Rasoolullah plwg nyluolg Nl (deg adle AUl o in Kutba-Hajj-tul-Vidah?
- 77 , ) ) .
?lﬁfgﬂ//K}C"J/J(L/},B"UJTL}GJ,&M&IK/Q' uﬁ@b)’:?,b :8/:‘J!r
(a) Human respect and dignity Sy o F duq (b) Hajj training Iy Jé
(c) Ways of worship 7&} PN (d) Worldly affairs 9 Sl s
Question No.9: Rasoolullahpluw g mlol g Al g ~le (Jlsi AUl Lo spent the last days of his life with :

:4_/1fry AT L gij & L(J“; ,e"u,ﬂ,,“kdw 0l J”;b; Jrs 9 # Ui

I e v . e o o7 .
(a) Hazrat Khadijah¢Jlss Ul o) L o (5 T aCYy ®) ER A" = 2

Hazrat Ayshalic (Jlei I (o)

e AL A L
T W .
(c) Hazrat Hafsahlic ¢Jlsd AUl o) Jb} A UJJ =< g/} (d) Hazrat Zainabl ic (Jlsi I (o) db} I dﬂj = &/}
A LZL# A LL#
Question No.10: Spending not properly on legitimate needs such as food, clothes and treatment etc. is called:
e C 0S8 e B b o Lot Y o SUF B el P P G 110 A Ui
(a) generosity ] (b) stingy ‘J; (c) extravagance bjg/g (d) moderation U”J ,J.L(‘
Question No.11: To adopt middle way in all matter is clear example of:
e JC’/‘ 5!}!.’//&77'! pordV &L{‘/J o bl (V“ 11 /"/ J!r‘
(a) peity Jd,’g (b) equality J_.g,(/ (c) modration J‘ju .‘z&*‘ (d) brotherhood d/_.,lm
Question No.12: An excellent example of economic moderation is:

:‘adl’}‘o/(fd)/;ygbfuﬁjl)&;‘bﬁ :12/1‘;‘_]1)*‘

(a) hoarding money 0 ) @’ K JL (b) excessive spending i) &7 K o JL
(c) low spending L/@] K/Q <8 2 JL (d) moderate spending L/@/ J}W L Y JL
Question No.13: Who said! " if my daughter had stolen, | would have cut off her hand":

2" @Ku’f/ﬁ’y K| uﬁ?&/d/g‘ff&fdﬁﬁ"f‘auv KJ/213/7‘;JU*‘
(a) Hazrat Nooh o )\iul asle {ruﬂﬁ sz @j = 2
(b) Hazrat Ibrahim o\l ~ylc {ﬂjﬂ[ sz rj;ﬂ = 2

(c) Hazrat Muhammad Rasoolullah JT leg e D1 odo Sl ails 518 Ji J‘ﬁ ,;19 y (}J wjj‘ ﬂ} ] J)"/ 4 =~

plwg oy g(J/,
(d) Hazrat Yagoob o\l ~dle Krw; Iy = 2



Question No.14: The profession of Hazrat AdameM.ull ~rle was

La?;g.grﬂrjﬂflirfl’a/} :14/J1r

(a) goat farming dL ’K/ gil:ﬁ::; UE J{y (c) fish farming UE é‘g (d) farming djg_..';{
Question No.15: According to Islamic teachings, to reduce environmental pollution, traffic laws should be:

:L‘tgd/d/ufi}LV@,}’JJZ&L/{/&)T&Q;’Luﬁ'd’“ud/c«l.{,ﬁ"duf‘! :15/7)J!/
(a) supervised dl// (b) changed J;lf (c) followed d/V,L, (d) look after JU‘ @{,
Question No.16: The act for living a prosper life told by Rasoolullahplwg ~ylolg Al leg asle AU Lo is:

1 Sl A T b a b de, & LTt 16 4 Ui

(a) the truth é.(?* (b) kindness L/_u’},wf’ (c) honesty d/;, &E, (d) to take pity 0‘71 ’,L.p
Question No.17 : Hazrat Ayesha Siddiqa's L ic (Ji AUl (o) watering the wounded of Ohad by putting musk on her back shows her:

e b 6 ot LS Unds Sou B LU et K1 30 D gae He e 17 A iy
(a) Patience JJ;,/ (b) Determination Jdu’},’&;, r/o

(c) Pardon ij/,,,ff (d) Courage and bravery Jd/’Lé{’ ;‘!lﬁz
Question No.18: Which saying of Hazrat Farid-ud-Din Ganj Shukar ~uc Ul xa>), gives us lesson to gain knowledge in every situation :

S F S e S e L e b BE g S e 18 A i
(a) honor is in justice < S Sl s Jw s o f
(b) get skills even if you get them with disrespect S ETE e (e N o
Oyomesterde sy seois S p SoS PSS e
(d) do not make the heart a game of the devil 36 < Jf/gu@ S

Question No.19: Salahuddin Ayoubi's aile (Jlsi AUl 20>, Jehadi life is a beacon:

e ol J’y dicj Ayt J,"J: Q5 =2 Q;jl ¢ A Ll :19/ Jis
(a) for our commanders “A ‘C Ul o il (b) for our traders i ": U120 el
(c) for our players “i L U?’,jM&JL’Z (d) for our poets “i L u,/[f; el
Question No.20: Allama Ibn-e-Khaldoon ~uc ~Ulzea>,is the founder of:

it Qb b bises sdl il e 20 # Jir
(a) economics L o2z (b)sociology ‘C el (c) astronomy L QL,@ (d) sociology ‘C ;.,L:[/f






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
MATHEMATICS PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
_Q’/Jpaﬂi/(um u‘.‘f’zc;u;_'
2. A question can consist of one or more parts.
_‘Lcﬁﬂ(}:jﬂ{:u%?u}k)afug&ugg)l)’.g_f

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

e U b JJWZJ"?J:_Q/JW 00 & /o8 d6dize ML L iz _r

I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1

lﬁ}dlr
a)lfA={1,3,7,8,9},B={2,3,4,6,7}and C = {2,4,5,7,9}. Verifythat AU (BU C) = (AU B) U C (5 marks)
SuS ey ixC = 1{2,4,5,7,9 0B = {2,3,4,6,7} A = {1,3,7,8,9}./i
(#5HAU(BUC)=(AuB)UC
b)Provethat% +%= % +%(5 marks)
A5+ =2+ 5y eth

Question No: 2

sy evaste () (£)"+ (4) ()7 smankn
o () 2 0 )

b ) The area of a square-shaped garden is 50625 sq. metres. Find the length of its side. (5 marks)

(A5 -g o QU S L e 2 850625 30804 E i (b

Question No: 3
3/:‘; J!r
a ) 80 men construct a building in 10 months. How many men will construct the same building in 8 months? (5 marks)
(AL g 7 8 et 51T E & S 2 S 10 =As 1 $oT 80 (@

b ) How much zakat Ali will pay on his saving of Rs 500 000? (5 marks)
(556 L1555 4 50500000 =2 5y f (b

Question No: 4



4/:}‘_)1;/

a ) Factorize: 4z%y — 4zy + 8y’ — Sy>. (5 marks)
(5 dz*y — doy + Sy’x — 8y’ /67 @
b ) Construct an equilateral triangle LMN whose basis is 6 cm long. (7 marks)

A Dvtd 2 & 60ucb €7 oo LMN 24 Gy f i+ i (0

Question No: 5
54 Jir

a ) Find the measurement of sides of a rectangle whose length is 6 times to its width and its area is 36504 square metres? (5
marks)

(F5) 8 X 836504 5601 - 6 < (iiz JJ¢JQJ&-Q/rPJngQWiLLJ:Wb{! (a
b ) 720 people visited zoo out of which 300 were men, 220 children and 200 women. Represent the data on pie graph.

& 6 S8 e 1 LU S 200 1 £ 220 657300 = Ut P S e S ALz L ud Y720 (0



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
MATHEMATICS PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
= " Z - 7 o .
e VWS BT 2 S S 12 E L e $E 0 2y

Example: 64+8=
a) 4 b) 6 ©)s8 d) 12

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L slizn e Lty o

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

AL o Lo e SE W F GDUT Ut s U1 el

Question No.1: Theset A = {a, e, 1,0, u} is written in the form:
e« 3)6F A ={a,e i,0,uter 1 £ Ur
(a) Tabular (./Z"//C’ (b) Descriptive :,L,
(c) Set builder e :}‘ (d) Power set e &}
Question No.2: If A={1,2,3,4} and B = {1, 2,3}, then A — B will be:

¥xA— BixB=1{1,2,3}sA ={1,2, 3,4}/! 2 A U

(a) {1} (b) {2}

(c) {3} (d) {4}
Question No.3: IfU = {l,m,n, o0} and C = {0}, then complement of set C is:

e el vcer 70C = {0YU = {I,m,n,0}/1 3 £ s
(a) {07 lam} (b) {l7n7 O}
(c) {l,m,n} (d) {m, n, o}
Question No.4: Which of the following is a rational number?

?‘Lg}bt)ﬁvu:rcuﬁ‘jj@ﬂ :4/J|/

@ =2 (b)



Question No.5:

(a) 2=

(c) &2

Question No.6:

Question No.8:

(a) &
() —%

Question No.9:

(a) =

(c) 3=

Question No.10:

2

11 IS:

The sum of %and

27
(b) %7
(d) 77
3 1
Solve 5 — &
1
(b) —+
7
(d)— T
Additive inverse of — % is:
3
(b) —+
1
(d) +
The multiplicative inverse of —% is
11
(b) i
(d) — 1t

11

When we change 0.24 to a rational number, we get:

9 3 /
- ,nf gﬁﬂl7 :S/J!/

% — %_Q/J’ 6 & Jir

_%J:‘;’d‘fg—% 7 A Ui

- U 3 K_Tll 8 A Jir

e tn T LS U S Fe 0244 2 9 £ Uir

(b) o=
(d) 22

Which of the following is a terminating decimal fraction?

?%:/Wl/ﬁ/du{cuﬁdﬁ’@/; :IO/JU/

In (5zy)", the exponent is:

Which of the following is a perfect square?

The square root of 784 is:

_4‘_u‘_~,}ut(5xy)7 11 A i

(%)2 X (%)3J/J’ 12 £ v
6

[(—%)3} J/J’ :13/J!r

?4"_6/;};;&&0/4;&‘);5@/) 214/12Jlr‘

e i 6784 115 A Jir



Question No.16:

Question No.17:

(a) 15
(c) 198

Question No.18:

(a) Rs 5100
(c) Rs 6100

Question No.19:

(a) 04%
(c) 10%

Question No.20:

(a) Rs 1200

(c) Rs 3000

Question No.21:

@z 3+1

(a? + 22—z 1 +7

Question No.22:

(a) Monomial
(c) Trinomial

Question No.23:

(@) x-y
(c)3x-y

Question No.24:

(a) 2 x2
(c) =2y

Question No.25:

(a) 4
(c) 12

Question No.26:

(a) £30°, £45°

(c) £80°,£100°

6 boys complete a work in 5 days. In how many days will 10 boys complete the same work?

oL g SIS X LY 10]&5:-@2_/&@: 5 L0646 L
(b) 5
(d) 10

The speed of a racing car is 55 meter/second. Its speed in km/hour will be:
Yz _ e .
St 2E R b St 23 255 4 S K B L
(b) 30
(d) 916

Tax paid at the rate of 3% on the property of Rs 201000 is:
y ; 3
_K}’[ugbm %’)L?VLML}:S/“}’#‘? d/9u201000

(b) Rs 6030

5100 s/ 6030 s/

6100 &3/ (d) Rs 7050 7050 &1/

Jawad bought a mobile for Rs 60,000 and paid a markup of Rs 24,000 for 4 years. Markup rate is:
ce 0SS o S b 29524000 ot SAEJU o 51147 S5 &30 60000 i L1 L 512

04 12 (b) 05% 05 42
10 44 (d) 40% 40 443

Annual saving of Waheed is Rs 120,000. The amount he will pay as zakat is:
ce P88 U e 90120000 25 20 a2

(b) Rs 1500

1200 &3 1500 &3/

3000 &1/ (d) Rs 4000

Identify the polynomial:

4000 &3

116 A& Ul

:17/Jlr

118 A Jis

119 & Jis

220 & Jir

Lo E 01 A Ui

(b) z? + z? +3x — 2
dz* +2° +222 —2x—7

The polynomial 9a+13b+cis:

e 9at13bte s & 22 A s

uJ/»
<l u’}l

Sk
§
Solve (x —2y+2) — (—2z + y + 2)

(x—2y+2)—(—2z+y+2)y/ S
(b) 3x-3y
(d) x-3y

(b) Binomial

(d) Algebraic equation

Solve (22 — 3?) — (2% +¢?)

(:v2 B yz) B (mz_kyz)qlrdi

The solution of the equation %x = 8is

_‘gfgix — Selsls

Pair of complementary angles is:

23 & Jis

:24/:} Jir

:25/:‘; J!r’

- U226 Ugsl d/”/fy/ :26/7‘; Ji/

(b) £ 507, £40°
(d) £90°, £120°



Question No.27:

(a) 15°
(c) 105°

Question No.28:

(@) 14 cm

(c)22 cm

Question No.29:

(@) 176 cm

(c)616 cm

Question No.30:

(a) 3.14cm?

(c) 9.42cm?

Question No.31:

In the given figure, the value of angle z is:

e SN Jw,,u e ‘ﬁ fd; :27/ Jis

5

(b) 90°
(d) 180°

The circumference of given circle is:

—e bF KD L Lo !28/1‘; Jir

]_4/”-{,'&5 (b) 21 cm 2]_/”-,{&34
22}-{:@‘/ (d)44 cm 44/”.{:&'2.”

Area of given circleis:

—e Fs 6 & F 29 # Jis

176 4 & (b) 176 cm? 176 % 5 & r
616 4 5 (d) 616 cm? 616 & &,

If radius of a cylinder is 1cm and height is 2cm then surface area of cylinder is:

-‘g,ﬁjf’Kjibin}fé'f’zég,lJmmn/”-f&f“luﬂu{/ﬁ%v{tﬁ 130 & Jlr
3.4 2 5 8 (b) 6.28cm” 6.28 < & &y
0.42 X ¢, (d) 18.85cm? 18.85 % (& &,

In the class interval (41 — 70) the lower class limit is:
e w ey stE 12 L(41 — T0) 31 4 Ui

(b) 55.5

(d) 111



Question No.32:

(a) Poetry

(c) Autobiography

The following pie graph represents sale of different books, maximum selling books are:

-t .‘}(db w3y ) wlJ e o i L"//;lb' }’/_“«9;/ JUM.A? Jl/dg J:}

Novel

J:L‘

90 /'

4

Religious

Books
72

— 80
Fichon .
i 60 YsgX Poetry
174
=i o9
Autobiography
d/[;.: (b) Fiction
1Y (d) Novel

LA

J}L’

G :32/:)Jlr‘



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
SCIENCE PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : Ol gwogee W S Wb

1. Use separate answer sheet for writing answers and give your personal information on it as well.

-udd CJl.og.lSZ.o U0 L)l.! c_u| u\.g_g_)._g__9| éuu|_)3| UJ)S Jlosz.l'w| s u\._g_ls uq|_9.?dy o..\.szLcJJ écj_.eﬁ.l CJL;|9._> A

2. Read carefully and attempt all questions.

- 28 J> OVl plad jgl paosy aw joe T

3. A question can consist of one or more parts.

-t B 99 Jadinoyy ygra> 03b ) aw Sul b Syl Jlgaw SylLP

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

et ot el S Lol S iy x2S+ )3 Lol 18 (iliigy vl /IS ) S gS) wls £

| Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes |

Question No: 1
1 / le
a ) What is the function of heart in circulatory system. (2 Marks)
(2)?% (Kgfm Un (b’/d}f,’// (a
b ) Write two differences between arteries and veins. (4 Marks)
(4)_J~J G sy Lzaumizy 47 (b

¢ ) Write the names of labeled parts in the diagram given below. (4 Marks)

(4)-u’f’g(t£ U i L ,/i/yj 56 EaC

Question No: 2
2/:2 Jlr

a ) Define habitat. (2 Marks)

O NEC



b ) Write the names of the habitats given below and two animals living in them. (8 Marks)

Question No: 3

34 Ui

a ) Differentiate between physical and chemical changes with an example of each. (4 Marks)
@-cs & L1 Lo 27 5t sk Sl o @

b ) Write a chemical change or physical change against each reaction. (8 Marks)
1. Burning of coal, 2. Turning of water into ice, 3. Rusting of iron, 4. Melting of wax

®- e e der LS 0
_t’f‘ﬂ’.{g(r.4:b€v@/§.).3‘L:J,euﬁd/,!{&l;.%t’l?gif.l

Question No: 4
4/:} Jir

a ) Define spectrum of light. (2 Marks)
ORISR 7 VIC
b ) Describe the process by which fish can see above the water. (4 Marks)
@ - o L0 25 L 7 g eotes (S 1
¢ ) Write the changes of angles when light passes from air to glass and glass to air. (4 Marks)

- ks Sup&iie Qo finae EEME cinFyoa
Question No: 5

S/Jlr

a ) Write the names of labeled parts in the given diagram. (3 Marks)

(3)_J$J(l: L Us? o i J‘J o rifyj éfd; (a

b ) Define star and galaxy. (4 Marks)
Wy 37 5 et (b

¢ ) Write the names of three constellations that are visible at night in the sky. (3 Marks)

(3)-@‘.@(([75WK@?LULT%@UVTU’:&U (c



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
SCIENCE PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy o7 i Y

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
e WO e TG L S Bois 28 L e JEW Z
Example: Covid-19 is caused by:
fe o d/19—3’;/:df’f
a) bacteria E/:’:!; b) fungi &L;’
(©) virus J s d) algae U%’

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

AL v o L s e B0 GG U g U el

Question No.1: Which one of the following diseases is NOT due to disorder of respiratory system?
?dyu‘*am‘f&vw(”d//u/dm dujcmjaj) I/Jlr‘
(a) Ulcer /.J| (b) Influenza 1/ )L“)l (c) Tuberculosis u, _/ (d) Pneumonia ‘[{/
Question No.2: Which of the following cells carry oxygen to cells of our body?
le%ﬁ/kﬁfjgzln)fau:rgufd;pzy 22/&/
(a) White blood cells KA (b) Red blood cells Kt
(c) Platelets U:e _»,;& (d) Nerve cells ).'./ Iy’
Question No.3: Both breathing and burning procesess use oxygenandrelease ______
-U}L/@/VJ{ /)IU*L/JL**’!KU;‘K!U)’»J'fLLUFAliu)V 3/‘/Jl/
(a) nitrogen u’?,/‘:/t (b) carbon dioxide LT djj 091

(c) ammonia 24 (d) hydrogen Cﬁ)/éf(l



The normal value of blood pressure of a person is:
Y
(c) 120/70 mmHg

Question No.4:

/L@‘Jﬂ./“ﬂdztu:ujbg :4/7‘;J|/

(d) 110/70 mmHg

(b) 120/80 mmHg

If a person feels cough and tightness in his chest, he is patient of:

Question No.5:
?+wfuﬁdjgfdi+tfu/u}?uﬁ’4/,uU’L@Qf?&/ﬁ :s/dur
(b) diabetes u).’./ (3

(a) 110/80 mmHg

(a) high blood pressure o Fc ,vL
(c) heart attack b 33 {J, (d) asthma "y

Cross-pollination produces which type of plants as compared to self-pollination?

Question No.6:
Sty L0 S AL L gF ok UG by oS 6 A Uiy

(a) Weak plants e (b) Strong plants ey by
(c) Colourful plants 4_;51!;,?/ (d) Fruitful plants &y Ul Jé

The process through which all living organisms produce more organisms like themselves is called:

Question No.7:
< 1 & e IR sl 25 & MR (B 25 CS 7 A

(b) reproduction L.jyj,/“zj (c) fertilization d%/’u;}’/ (d) germination e -7

(a) pollination u’f 6}1
Which of the following habitats receives rain all year around?

Question No.8:
?%Q%JJQJVUVU:UQLU/LJJ“};/%’ :S/Jir‘

~*/
=12

Fill the empty circle with a suitable organism.

(}T (d) Grass land i {JJ

(c) Aquatic

(b) Rainforest

(a) Deserts u[;:,:(/

Question No.9:

_Q//; = Sk _,wafz_/’b J6 :9;‘; J!r

.::f.x'_l- 5:'}_1 .
AT
)
@ (0 (b) (d)
i :.-1 ]___:
_; f .
P e oL "'E'J\H
g kg )

Snake lives in the desert. What adaptation do you think enabled it to live in desert?
e Qe L Ui Pt B 5 of UL el Ut 2 b 110 4 Uiy
(b) Scaly skin Ao 6/,/

Question No.10:

(a) Thick Fur / 3/
(c) Streamlined shape f' U%.(JJ (d) webbed feet u§£/|) dg
Question No.11: How becteria causes water pollution? .
sl S ol Q2% 1 A Ui
(a) Byincreasing growth of algae /’/Lg b Jj'f.’ Ju;l (b) By releasing toxic gases L /@/G w:‘f”)f/z)
(c) By spreading diseases /'/Ugf.”./ u‘L‘/k} (d) By causing acid rain /J J{J/L ‘}'/5

The water which does NOT produce good lather with soap is called:

Question No.12:
e bttt o S F1 A o 2 Ll 12 A Ui
(b) hard water &L o5

(a) soft water &L r/
‘ ’ Z . ‘ o
(c) pleasent water ‘}L Aﬁy (d) unpleasent water ‘}L J’}é}?t

Question No.13: Which is the smallest particle of matter?

S b o sl e el 113 £ Ui

()’11 (b) Molecule d,:?t (c) Element /45’ (d) Compound J/

(a) Atom



Question No.14 :

Question No.15:

(a) Sulpur
(b) Magnesium
(c) Aluminium

(d) Argon

Question No.16:

(a) Physical change
(c) Chemical change

Question No.17:

(a) wetting dry cloth
(c) lightening a bulb

Question No.18:

(a) Hydrofluorocarbon

(c) Hydrocarbon

Question No.19:

(a) Both are good absorbers of heat
(b) Both are good radiators of heat
(c) Shiny surface teapot keeps the tea warmer for a long time

(d) Black surface teapot keeps the tea warmer for a long time

Question No.20:

(a) Expands and becomes heavier

(c) Contracts and becomes heavier

Identify the atomic structure of Beryllium.

_Q/w;uw'd//f;ﬂ¢£(ﬁ/;. 114 A Uiy

Given below diagram shows which element?

S 6 4 = uf SEU L Ut s 115 4 Jis

. P _f.’ L
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~ . \ S st - y ./{:

Rusting of iron is which type of change?

b
IRV

An example of irreversible change is:

?‘L(};id/rﬁ“bﬁj)}(%) 16 & iy
INET
S S8

(b) Change of pressure

(d) Change of colour

:17/J!r
I gs vt
C oY

e e dde e d
L/ijlﬁ/_,é? (b) mixing salt in water
e gk

What is the main compound of automobile fuel?

(d) rotting of fruit

e | i‘ft{d;ye 5 FlodT 18 & Jis
K FL
ui/Ku:B )/!K

(b) Nitrocarbon

SN P, Iy
K (d) Chloroflourocarbon
Identify the correct statement about the shiny teapot and black teapot.
_q/.',t’?‘t Kol s S £ &u il S i/ J6 sl &UL o S i//u.é :19/ Jis
=il f:! d/a/i] Uy
Wi 3/@!7! vy K7 Uda
< u‘m// (/.f/“) 319 :(ng &!)ng i 5/1')-@:
< uf/ (/CE/“) mlJ /ng 3 il i i’ J¢
What happened to air when sunlight heats it up?

?‘amg,fivLm?‘LJ/(/lm(fuJam_,», :20/Ju»
‘LJ%ndzlﬂfJ;i@f{ ‘Lglg}fu@/}'[gg
‘L&gndzlaf/)i &/J’é ‘Lélgnu@m &/b&

(b) Expands and becomes lighter

(d) Contracts and becomes lighter



Question No.21: Identify the process of conduction from the figures given below.
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Question No.22: The ratio of the speed of light in vacuum to the speed of light in the medium is called:
— dM e JJL"/ L}/Q’u oo bl J'//:UL"/ J(}’u S 22 A Uiy
(a) reflective Index Lf"(j" ;g@} (b) refractive Index Jgil;g//

(c) transmitive Index Jgj] ;/1/” (d) dispersive Index Jgj@l}f’/f
Question No.23: The pencilin the glass of water looks like broken at the waterline, it is due to:

- s § e Tl 0 S dmwiz e S UERE UL 23 AU

(a) reflection ST
(b) dispersion J 2
(c) diffraction = 3
(d) refraction = ¥
Question No.24 : Which colour will be produced by mixing red, blue and green colours?
?<‘~_L~Tuﬁm,.f/vu/:_i£v€xm@(6/ 224/7’;Ji/
(a) Yellow L (b) Pink dj_{ (c) Orange ‘j:/t (d) White A
Question No.25: Hertz (Hz) is the unit of:
?‘L&zg/l,&’f Lf'//b/; :25/:}&!/
(a) Speed /D'J (b) Frequency u*’,{/ (c) Wavelength - iz, (d) Amplitude j}f’ &,’Q
Question No.26: According to the diagram which glass has the highest pitch?
ed we Gl Uk J & ru@j 26 & Jir
(a) A | |
(b)B 2 3
§5=
(d)D "TREHE '
B C D

Question No.27: Which of the following is the best material for making ladder for electric work?

?‘L@%;LLufx“iL(KLJ?Jﬁvuféu:J;'@ 27 A iy
(a) Aluminum r:.‘./,&; (b) Fiberglass u’%/[, (c) Wood 6}5 (d) Iron [!,J

Question No.28: The process that is used to coat a metal object with a thin layer of another metal is called:

_‘Lt’va ccat‘ndt’x“l“iéLth.{"Jf,d/aw)d/);drfigwgf(ﬁfu :ZS/JW
(a) electrolysis J/‘ ,;Q; (b) electroplating _,C‘i:‘l; ,/’:Q;
o o . b
(c) hydrogenation ‘_.ﬁ.“f',/jg[[ (d) distillation u“/.'.'lf“j




Question No.29:

(a) Decrease in resistance
(b) Increase in voltage
(c) Stoping of current flow

(d) Increase in current flow

Question No.30:

(a) white dwarf

Question No.31:

(a) galaxy

Question No.32:

(a) Cassiopeia
(b) Megellan
(c) Andromeda

(d) Milky Way

What will happen if the X labeled part is broken in the given series circuit?

?K}/:Q’/;ngrlﬁuﬁﬁoﬁﬁa)(uﬁ&//zﬁz&,)ﬂ 229/7‘;JU/

‘j/u: =L 7 A, r _
5 M- B
Sl @’Ju -__l = 12
- A,

b sl K s S e
W
St iy Lo S %

When large amount of energy is generated in protostar, it becomes:

-~ b J,g e - ;“a A 4z (51 ]I A uﬁ/lﬁw:)j;/,: — :30/:‘; J!r‘
Py 73 6/

Clouds of gases and dust are called:

3

*

(b) a star (c) red giant (d) nebula Ust

iy 4

Lk il é/y}’u/ful u:/:f 31 4 Jis

u,ﬁf (d) nebula Usd

(b) star sl (c) universe =K

Identify the name of galaxy shown in the given below image.
M/&Cﬁ&ﬂiﬁ@é%g&ﬁf@é 30 A iy
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
SOCIAL STUDIES PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
_Q’/Jpaﬂi/(um u‘.‘f’zc;u;_'
2. A question can consist of one or more parts.
_‘Lcﬁﬂ(}:jﬂ{:u%?u}k)afug&ugg)l)’.g_f

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

e U b JJWZJ"?J:_Q/JW 00 & /o8 d6dize ML L iz _r

I Total Marks: 52 I Part-B (Open Ended Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1
1/:‘; Jlr

a ) Write a brief note on Hazrat Shah Waliullah's movement : (Marks 6)
6 Al e (7 S = @
b ) Analyze the religious services of Shah Waliullah: (Marks 6)
(6 )iy S o7 Kbws & § b doolz (B

Question No: 2
2/:‘; J!r

a ) What are the things that man uses to find out the internal structure of the earth? (Marks 02)
02 A e t S U6 sz f U1 & L Lt =, K sl Jain ot @
b ) What is meant by volcanic action ? Write two effects of the volcanic process and describe any two types of volcanoes. (Marks
08)
(08/)u:/u.l’/(ul»dé/(}/g}tﬁffm,ﬂgl}"uLJ“L(}U)J"TV%;I/Q(LJ?LGWJJT (b
Question No: 3

3/:}‘,)!)/

a ) Describe vertical distribution of temperature. (Marks 05)
(05 /) U:/U,l( (:j Sos Jc«ﬂ] >4 (a
b ) Describe the reasons of change in temperature due to air pressure. (Marks 05)

(05/):@/@9.4;?; u(&iu:a/l]gucfpim (b

Question No: 4

4/«)!;/



a) Write the personality traits of Abu Al-Muzaffar Mohi-ud-Din Aurangzeb Alamgir: (Marks 06)
(06 ) :u:‘”gayﬁ‘ Seed § e F g § g

b ) Describe Aurangzeb's religious policy. (Marks 06)
06 ) e 5 (74 S e (b

Question No: 5
5 4 v
a ) Where did born Naseer U Din Muhammad Hamayun? (Marks 02)
(02 ) S1st La, U Ul & 1 22 (2
b ) What did Mirza Hindal to his brother Naseeruddin Humayun? (Marks 04)
(0460 L& Jiweti p du £ 1 AL L Usa o2 (b

c) Give two reasons for Zahiruddin Babar's invasion of the subcontinent: (Marks 04)

(04/):u:/12:«l[£5;)d/d../i/ﬂfuu@/é‘/.d//bg (c



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
SOCIAL STUDIES PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:

Student Name : Section:

Roll Number: Date:

General Instructions for students : ey S oL A

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

e WO e TG L S Bois 28 L e JEW Z

Example : Which country is located in the north of Pakistan?

S O libo o Ut JE Z el Je
a) India Sy b) Afghanistan u[;ﬁ[;}l

(©) China u;‘f d)iran (i /|

4) Use black/blue ink for writing. Use of lead pencil is not allowed.

_‘Ldja]lgl JJWI&&&C_Q/JWI Kéwu&/dgéié_ﬁ

5) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L slzml e Ut dir & A 2

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

e ALKy o L s et $E 0 F GDUF Ut g U1 i

Question No.1: The main reason for the division of the lithosphere into small and large parts is:
e S G g S FF A
(a) Foldings Ly (b) Volcanism dt;e JJT
(c) Faults 26 (d) Earthquakes s
Question No.2: The most abundant elements in the Earth's inner core are:

be . . . .
U b L I ol e o Qi1 S 2 A iy
(a) brass and nickel Jg s ﬁ' (b) nickel and iron l[}J il JQ
(c) silicone and magnesium (f{? m u}g/ (d) silicone and iron l!’J s u);L’




Question No.3: A seismograph is used to find the:

et L3S e s 3 4 iy
(b) magnitude of an earthquake h._.d/‘;; JL)J

(a) amount of rain I JJJL
(d) intensity of heat - d/dj

(c) speed of wind /B/ JU/;

Question No.4 : The cause of weathering in arid and desert areas is:

:‘L,?,me/"j’utu}w&;‘muéf :4/1}J|/
(b) heavy rain 8,£j JJJL

(a) difference in temperature J/ uﬁ' o7 o
. . . (d) the difference between day and - o
(c) high winds ug/: K night J/ Kol sl 3

Question No.5: Types of denudation are:

it ISR 5 A Uiy

(a) three B4 (b) four e
(c) five é& (d) Six Z

Question No.6: The gas used for cooling in refrigerator is:

e Jndb&’f’l JZ“L LL/!M//%;}./ :6/J1r

w7 (b) Nitrogen Cﬁ’/bjt

i,

(a) Oxygen :
(c) Carbon-Di-Oxide j;[,ff &[j u'j{ (d) Chloro Fluoro Carbon uj,{,/,ﬁ,/,g

Question No.7: It is essential for the growth of plants and animals:

it G i & L § ety o Uy 11 A Jir

’ (b) vitamins a2

(a) protiens i
(c) carbohydrates u’z//‘g’[{j/{ (d) fats u’f‘f
Question No.8: Freezing point is the temperature at which water changes into:
Z%V@ﬂdi&&@%c«ﬂ/gﬂu;%'ﬁ :8/J'}"
(a) liquid U é[, (b) ice o S
(c) vapours uﬁ el (d) gas u:’ J.‘.f
Question No.9: The unit of measurement of air pressure is:
e 3 S a3 L 9 4 Ui
(a) Milli meter P (b) Milli bar Ad
(<) Milli gram r,f& (dl) Milli liter P b
Question No.10: The winds moving from high pressure to low pressure areas are called:
e bk bl e L3 e S ml i K Ul 110 7 Ui
(a) storm uu,b (b) wind ‘f’},’f
(c) cyclone s S (d) flood U

Question No.11: Rainy season in Pakistan starts in:

:c‘_m&/‘(’y‘guﬁguﬁuu@ :11/Jw
(b) summer u;f L/f(}x

(a) winter Ut L/ r/),.
U7

(c) spring uﬁ JL% r’“,‘ (d) autumn
An important thing in the creation of humans, animals, and plants is:

Question No.12:
e 7 e J:L’ Jat“l; 81 I Ul :12/ Jis

(b) water d.Li

(d) fire JT

(a) air | 87

(c) soil 5‘"



Question No.13: The important means of irrigation in Balochistan is:

0

e 25 A ST UE gk 113 A Ui

(a) tube-wells J:, u}f’ (b) karezez Z./K
(c) wells u:,// (d) springs é’}
Question No.14: Zaheer-Ud-Din Muhammad Babar was a very powerful and courageous ruler because he belonged to:
:La?ygu’! Lol 43 UI/-GUDM}c«liul/}g%:«%bg/,l,jdﬂlﬂ“g 114 A Uiy
(a) Rajput family & JILb oy, (b) Mongol and Turk family & JILG J}‘ m J,é
(c) Sadaat family = YL el (d) Irani royal family = YL $ &1/“1
Question No.15: The greatest wisdom of Shahanshah Akbar to replace the feudal system into ""Mansab Dari" was:
U‘“’degwd/gféurw d/l)w/'/d,b:’/(tb U’/b[la L//'ot‘»pp :15/7‘;‘_)1)/
(a) gaining power J,‘V K al (b) to resolve administrative issues L/J’ ‘J’/L/ S
(c) the welfare of the people a2l s UL Jﬂf (d) conspiracies of feudal lords U{}JV Ju,/')[[?
Question No.16: The most important role played for finishing of Deen-E-Elahi of Jalal-U-Din Akbar was of:
:(ZJIJ/KZIL?MJ:L/E}/UZHu:;;'://qu’ﬂldﬂy :16/}J|r‘
(a) Sheikh Mubarak {VGV 5 (b) Hazrat Shiekh Ahmed Sarhindi ng/ yd 5“ = 2

(c) Noor ud Din Muhammad 4 . _ o - o5 .
K[L{? 4 u:,dl/j (d) Hazrat Shiekh Saleem Chishti (6’3 (é’ C = 2

Jahangir

Question No.17: A building included in the "seven wonders" of the world, and is heartening to see again and again is:
e Gl b A 2 el L e e S s 117 A i
(a) Red Fort of Delhi A,J:s’ JU Kd", (b) Sheesh Mahal J; J’:r’

(c) Wazir Khan Mosque Jb s ﬁ"” (d) Taj Mahal J; oy
Question No.18: After the death of a Mansabdar, all of his property was confiscated in favour of:

:étgd/&iu;lglgrﬁ JJIM&J_/LA;W :18/J1r
(a) Government JK/ (b) parents d’d”
(c) needy people Usar s 2 (d) wife Sy
Question No.19: The policy of the Mughals that made their peoples loyal to them was:

2{(}/1)55 JUI Ly oo JJ UA"JE Ju}’" 219/ JU‘

(a) political u’&, (b) religious u:z'/;
(c) social L;V“ (d) educational u‘:w
Question No.20: Battle of Plassey was fought between:

F 67 s B 20 4 Ui
Z U Fim b

L Uty sl b 2
(a) Siraj Ud Duaulah and British (b) Tipu Sultan and Marhatas ¥
U %%

Z U sl s o Z u;«f I KO

(c) Siraj Ud Daulha and Marhatas (d) Siraj-O-Dolah and Sikhs

O] O]
Question No.21: The shortcoming of Muhammad Moazzam (Bahadur Shah 1) that weakened the system of government was his:
:.Lfy:/:/c/:‘; rU?J/“fL« Ju2 u{u U:(J}’ oL?J)l/)(bAj :21/7‘;‘_)!/
(a) gentle temperament J[/ r/ (b) generosity d) @1/

(c) weak judgment power d/,/d/M g_u} (d) lack of education JJ(.‘.W



Question No.22:

(a) cheerful
(c) weak

Question No.23:

(a) 321 years
(c) 341 years

Question No.24 :

(a) 1761
(c) 1799

Question No.25:

(a) Karachi
(c) Lahore

Question No.26:

(a) Peshawar and Quetta

(c) Faisalabad and Rawalpindi

Question No.27:

(a) village
(c) province

Question No.28:

(a) India and Pakistan

(c) China and Pakistan

Question No.29:

(a) national trade

(c) balanced trade

Question No.30:

(a) Pothohar Plateau

(c) nothern areas

Question No.31:

(a) 1767

(c) 1800

Due to Bahadur Shah's kindness, many Governors became:
:ZM!/!LMLUL‘;.LM &!/()Jof?ul.z{ :22/7‘/J|/
J, u’“y (b) strong

s (d) rich P

Mughals ruled over Sub-Continent for:

s =3l

S e Al U 03 A iy

Jlf 321 (b) 331 years Jl/ 331
J- 341 (d) 351 years Ju 351
Haider Ali died in:
&l: =l J‘ I :24/:} Jis
. 1761 (b) 1782 Ut 1782
U~ 1799 (d) 1857 Ut 1857

The first Nuclear energy plant in Pakistan was established at:

S a7 f’u" 2ol g oy o thy J uu@ 25 & Uiy
e 2
- )@T (U

(b) Chashma

uﬁ@!/
D)

Factories of Automobile are located in:

(d) Islamabad

(gt Ol 6K L S dT 26 A Ui
- .”5[/)! 1L U (_f:i/rul x|
U d,@:u 2! )@T Jﬂi - )QT Jﬂi s O

All the buyers and sellers involved in the domestic exchange of goods and services belong to:
W w ;,JL Py z_/:m/ A7 C el (B e el (,g :27/ Jlr‘
Z Uik [ (b) city s /‘p L
Lo Ll L M
The Silk highway is important source of link between the two countries:
‘e 25 A K& L 2 5 f%/ ol £ :28/ Jis

(b) Afghanistan and India sl (I

u.’fg/}l ﬁ) ,ﬁ

(b) Lahore and Karachi

(d) Multan and Faisalabad

(d) country

Ul:’/@/)l v
Ul?f&/)l u.’.'ﬁ

Bilateral trade with other countries is called:

(d) Bangladesh and China

e Qb e FLF L AW s 29 £ i

c«/? (,g (b) International trade c«/l.; U}t‘
cul; Ok (d) local trade ca/l.; du‘

The ancient area for the production of mineral oil in Pakistan is:

e B (DK g SE S S ut;fg 130 & Jis
ek & 0
=l Sk FL

/[[,a?j 87/ i/ (b) Baluchistan Pleatue
=l Sk ¢
British, Marhattas and Nizam Hyder Abad attacked on Mesoor in:
.l‘-()? 4 AP )LT JA> (Uw »l U cu;'/“fl 31 / J!y’
1767 (b) 1785 - 1785

U~ #1800 (d) 1857 U~ #1857

(d) coastal areas



Question No.32: In 1767,Haider Ali defeated the British by:
1Sy el S Unr FI s 21767 32 4 Uir

7 - .
z ing Ni f Hai & }‘/“/(UJ/)L!A,? &
(a) creating revolt in the British army L/u{, _AL,J u" Z/ .// b) separating Nizam of Haiderabad J . f

from British army Z:/oﬁk

(c) separating Marathas and Nizam }KJU I (U?J ] u}i’g/

of Haiderabad from British Z:/oﬁk:_,uy//{(y (d) defeating the Sikhs /Z—JJ}KU,W&



TEACHING OF QURAN MAJEED PART - B (Subjective Type)

SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7

[Part A:15 Marks Part B: 35 Marks Total: 50 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students:

1.Use separate answer sheet for writing answers and give your personal information on it as well.

el e e S &t g S e Ki6dz = i L L iz

2. Read carefully and attempt all questions

S i U gy = F

3. A question can consist of one or more parts

-‘Ltﬁng}}b/’ur"ugj‘;u{igvgdwvg

4, Use black/blue ink for writing answers. Use of lead pencil is not allowed-

_ﬁ;uﬁ?}a]lgi JJW!LJ{&:-Q:/JWI K(}Du(}:/dgéécﬁg

Total Marks:35

I Part-B (Constructed Response Questions) I

Total Time: 1 Hour 30 Minutes I

ST S 2 Lo A5L Jir s uﬁ”‘iﬁu“i AT e L el e e A28 v put ot iz £ ety Gl e Ut ety AU e iy
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
TEACHING OF QURAN MAJEED PART - A (Objective Type)

[Part A:15 Marks Part B: 35 Marks Total: 50 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy o7 i Y

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

"L‘l{fu;}u’:dc"‘fd}é'}/wd/@dbé%'ﬁgZ:J!y&@"'m/?/ﬁ_r
e Pt & s, o Je

Example: How many Salah are obligatory for Muslims in a day?

Four A.f (b) Three uf' (2)
Six %7 (d) Five é& 0)

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 15 I Part-A (Multiple Choice Questions) I Total Time: 30 minutes I

Instructions: Twenty-five (15) Multiple Choice Questions (MCQs) are given in this part. Each question carries one mark.
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SCHOOL BASED ASSESSMENT 2023

URDU PART - A (Objective Type)

[Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

MODEL PAPER
GRADE 7

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 7
URDU PART -B (Subjective Type)

[Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:
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